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1. Write short notes on the following :
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(a) The Indian Councils Act, 1861.
Y uiwe 3rfafam, 1861.

(b) Role of Bihar in the Quit India Movement. - 8

WA BIST ATGieq B g i yftre.

(c) Santhal uprfsing. , ' 8

g foagrs.

(d) Patna Kalam painting. » 7
YT ey T=repar. |

(e) Artand Architecture of Mauryan Age. 7
2. (a) Describe the Champaran Indigo Movement and explain its impacts on the
Indian freedom struggle.
38
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(b) How far the British policy was responsible for the emergence of Indian
National Movement ? Explain. 38
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(a) Examine the expansion of Western Education in Bihar from mid-nineteenth

‘century onward.

38
foreme 3 S TaTed % wem ¥ I ufveht fren F Sera  waw A |
Or/ 3Yar
(b) Assess the constructive works of Mahatma Gandhi. e 38
TETHT Tl o TITcHeh il o1 STTehai hiteg |
Section -l
Qus - |l
4. Answer the following questions :
Fretafed Tt & S G
(a) Discuss the direction of unity and coalition politics of opposition parties after the
defeat of Aam Aadmi Party in Delhi Assembly Elections, 2025. | 8
feedt faremras T 2025 3, 31 3ert ot 5t 2R % we fygeft o Ay Tehsleal
R TEa-4 hl eI 61 feem W ==t Hifvu |
(b) Rassia-Ukraine war has completed three years. Throwing light on the caﬂses of
this war, and discuss its effects on the World politics. ' ' 8
®H-Fsh Jg I d7 99 R & 7T 3 | I B R W e g, i
Y foRe TeMIf T TS Tl gwiE < ==t Hifv |
(¢) Maha Kumbh Fair was organized in India from Monday, 13 January, 2025 to
26 February, 2025. How was this fair a symbol of Indian culture, religious faith
and social harmony ? Explain with examples. 8
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(d) Throw detailed light on the need and importance of caste based Census in Bihar. 7

oRm ¥ Wy SR SORT 61 STl 3R Teed W Rega s e |

(e) Analyze logically what the future of the United States of America will be at national

and international level under the leadership of newly elected President Donald

Trump.
qﬁaﬁammw%ﬁﬁﬁWmemwl
SIS T W e S 2, %1 aeh afe ferwerr Hifv |

5. (a) Uttarakhand has became the first state to implement the Uniform Civil Code in
India. Explain the Uniform Civil Code in this regard. Also explain with examples,

what changes will it bring to the Indian society on social, cultural, religious and

legal basis. 38
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(b) Discuss the Constitutional provisions governing Presidents Rule in India,

giving reasons for the imposition of Presidents Rule in Manipur recently and

also evaluate its effectiveness in the present times. 38
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(a) Discuss the concept of ‘One Nation, One. Election’ and its implication on
the federal Structure of India. What are the potential advantages and
disadvantages of synchronizing elections to the Lok Sabha and State
Assemblies ? Analyze. . I : 38
TS T2, Woh AT Th1 U FUT WRA el g e gEes ffgared w =
S\ S S e R 3 T T e e % we wE
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(b) Throwing light on the increasing women participation in Indian politics and
society and the Women’s Reservation Act, 2023 (Narishakti Vandan Act, 2023),
Analyze the social, economic and political changes taking place in Indian society

due to its implementation. : : | 38
Wmﬁwwﬁmmmﬁmwmmm rffem,
0023 (Ariwifad s s, 2023) T THR TTE BY, T BRAEA R
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Section -1l
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7. The following table demonstrates the number of'candidates'appeared, qualified and
selected in a competitive examination from five States Delhi, Himachal Pradesh
(H.P.), Uttar Pradesh (U.P.), Punjab and Haryana over the years 1994 to 2000.
Study the table carefully and answer the questions given below it : '
Delhi H.P. . f Punjab - Haryana
s lzle| 8|28 B|2|3|E|8|3| 5 |E|E
vear| 5 | £ (8| 5 |E|8| 2|S|8| & |S|s| &5
2| slsl 21312 2| 3|lel a|l3|d| T ||
a G |ow SO0l < glo| « < Clw
8200 | 680 | 85 6400 | 700 | 75

~
(0]

1994 | 8000 | 850 | 9 7800 | 810 | 82 7500 | 720

71995 | 4800 | 500 | 48 | 7500 800 | 65 | 5600 620 |
1996 | 7500 | 640 | 82 7400 | 560 | 70 | 4800 1400 |
1997 | 9500 | 850 | 90 8800 | 920 | 86 | 7000 650 |
1998 | 9000 | 800 | 70 | 7200 850 | 75 | 8500 | 950
1999 | 9200 | 780 75 | 8000 | 870 | 80 | 9000 | 920

> 8500 | 900 | 88 | 8000 | 900
2000 | 8800 | 750 | 7

SN

6800 | 600 | 70 | 7100 | 650 | 75
5500 | 525 | 65 | 5200 | 350 | 55
~800 | 720 | 84 | 6400 | 540 | 60
5700 | 485 | 60 | 4500 | 600 | 75
5000 | 490 | 65 | 5500 | 650 | &g

6300 | 500 | 62 6000 | 620 | 78
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frfefga ol o 1994 & 2000 % G aie Tl foeet, fearae wew (&.9.),
TR (3.31.), T T gheron & e s wier § i, 7a ST T =t
awzﬁ‘rﬁﬁamw%

sofieart it T # wehfa w8 | |l @6 €

foetl . :«:.stg. Wﬂg | E
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4800 | 500 [ 48 | 7500 | 800 | 65 | 5600 | 620 | 85 [ 6800 600 | 70 | 7100 | 650 | 75
1996 | 7500 | 640 | 82 | 7400 | 560 [ 70 | 4800 | 400 | 48 | 6500 525 | 65 |.5200 | 350 | 55
1997 | 9500 | 850 [ 90 | 8800 | 920 | 86 | 7000 | 650 | 70 | 7800 [ 720 | 84 6400 | 540 | 60
9000 | 800 [ 70 | 7200 | 850 | 75 | 8500 | 950 | 80 | 5700 | 485 | 60 | 4500 | 600 | 75

1999 [ 9200 | 780 | 75 | 8000 | 870 | 80 | 9000 | 920 | 75 | 6000 | 490 | 65 | 5500 | 650 | 80
r 2000 [ 8800 | 750 | 72 [ 8500 | 900 | 88 | 8000 | 900 | 82 | 6300 | 500 | 62 | 6000 | 620 | 78

A

1994 | 8000 | 850 | 94 | 7800 | 810 | 82

(a) For which State the average number of candidates selected over the years is

maximum ?

o T o ford ferfevr o # = seiigam 1 Sitea rfeeas B 7

(b) For which year the percentage of candidates qualified from Haryaha over the
candidates appeared from Haryana is highest ?

mw%mm@mwmﬁwmamm
T gfeerd Afehaq 8 ?

(c) Inthe year 1999, which State had the Iowest percehtage of eandidates selected
over the candidates appeared from that State ? 6

o 1999 ¥ fopu 5w # =MA IFfiCARl 1 W TS ¥ Wi IfiGaRl W o
=T 3 7 |
(d) For which State the ratio of candidates selected and the candidates qualified is

highest for the year 1997 ?
g 75 & ford 9w 1997ﬁa?rﬁaa’wﬁa€rrhai‘r{a€mmauﬂamﬁm ST

AT 8 ?
(e) Which state has the highest percentage of total candidates selected over the
total candidates appeared from that State during the years under consideration ? 6

g T 1 Rraraefe a6t 3 S et At SFHIGERI S 36 TS | e Fa
Iaflgar W g rfeeran 8 7 | ‘

( Turn Over)

20 Examadtbiara®

BPSC | BSSC | BPSSC | CSBC

50/CC/M-2025 — 02 - (5)




(f) Find the ratio of the total candidates selected, qualified and appeared from U.P.

during the year 1994 to 2000. _ )
¢ 1994 ¥ 2000 F ENH T3, F P T, &1 I T Wl IEAiGRT

T I Fa HRE |
Or/ 3AYar

The bar diagram given below shows the production (in tons) of three crops — paddy,
wheat and maize during the year 2002 to 2005 in a country. Study the diagram

carefully and answer the questions given below it :
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(a) What is the ratio of total production of paddy, wheat and maize in the county ¢

2002 2003 'ENE
during the year 2002 to 2005 ? azn% 7
3 & a1 2002 @ 2005 3 A UM, T 3R AFHT H FeT IeureH H IFTMA
.;4’jed)

35
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(b) The total production of maize is what percentage of the total production of the
three crops during the years under consideration ? 6
el w6t % SN He B e Seed, A Eel & el Seaied Bl R
e & ?

(c) The average production of wheat is what percentage of the average production
of paddy during the years under consideration ? 8

feperrreli et % S T Bt st SeTe, o 3 i SeTed i feRdT o
? 7

(d) What percentage of the production of maize should be increased or decreased,
so that the total production of maize is exactly half of the total production of paddy
in the country during 2002 — 2005 ? 8
T 1 IeuTed Rhcd WS @R 3T B WY {5 oW # 2002 — 2005 %
1T HeFh T FoT IeTGH, T o H IcaTG I Sieh T 8l 91T 7

(e) If in the year 2004, the production of wheat is increased by 50% and the
production of rgaﬁg_y_ is decreased by 40%, then the production of paddy will be
what percentage of the production of wheat ?

8
afg a9 2004 T T T IAEH 50% T ST & AU UM Bl IS 40% FH &
ST @, Tl 9 1 Ic1eH, 15 % Icared <1 fobaw wferera g ¢
8. The following pie-charts represent the expenditure (in rupees) of two families A and
B. Study the charts carefully and answer the questions given below them :
Food Food
. 144 e 136°
Clothing  gQ° - - Clothing 64° -
{4
\o; CiE Miscellaneous
i*t ; "y
Fuel 4
XXX A L/
Family A Family B
(Total Expenditure : Rs. 30,000) (Total Expenditure : Rs. 45,000)
Go/CC/M-2025 - 02 (7) ~ (Tum Over)
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(@) What is the tota] expenditure of the two families (in rupees) on food ? 6
aﬁvﬁrﬂﬁm%ﬁmﬁ%m(wﬁﬁ)%%? : :

(6) The total expenditure of the two families on fuel is what

percent of the total
eXxpenditure of the two families on clothing ?

ﬁﬁvﬁaﬁwémﬁgmw@émmﬁgqgm@émmm%?

(c) If the eXpenditure of the two families

6

on food and house rent is increase'd by
20% and 30% respectively,

then what will be the percentage increase in the total
expenditure of the two families combined ?

qﬁaﬁqﬁaﬁ%’ﬂmmw RT3 2 I =R 1 20% Td 30% I
9% 890 8, 9 a o

P
DA D= W g A Vao o
N Som. 2. a~ L URVYRL Y Dy ety l ! o
i "oy g'a i 7 A R
p IO SN IS L et
R i

8
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percentage of expenditure on miscellaneous should be decreased by the two
8

families separately, so that their total expenditure remains the same ?
Mt whEr R W A AT = & 15% i 9fg & I @ | 2t ket &
e aTer ffy wel 2 v = i R -Rra wftrer <6 st Y S,

Géhf el 9 tEfdd @ ¢

(e) lithe 'expenditure of the two families on food ‘clothing and house rent is increased

by 10%, 20% and. 30% respectively, then flnd the ratio of their total expenditures

on food, clothing and house rent. 8
afe O i W e, m%qama%n&ﬁzﬁﬁmémﬁm 10%,
20% T 30% <1 iy B e 2, ?ﬁ?ﬂéﬂﬁw—r m@wwﬁmﬁﬁ?ﬁaﬁ
Fl S A S T HRA | s .
Orl3eEr g
The following graph shows the exports from three companies X Y and Z (in Fls
crores) dunng the year 1993 to 1999. Study the graph carefully and answer the
questlons glven below it :
150 , , — ' _
140 Mt L e ' § e
‘ Y
130 — — _ /f o
@ 120 : e - — = S any X
$ 110 — RN / 7
g 100 : e N
@ 90
c 8o
£ 70
§ 60 .
g 50
g 0
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20
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. 0 T T T J ! 1 T
1993 1994 1995 1996 1997 1998 1999
: Years - ‘
- CompanyY =G COmpany X =iy Company Z
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(a) Which company had the steepest rise in its exports compared to the previous
6

\ ‘\\\\\&S\"\\ “

year and in which year ?

forr et g frat 3 Rrodt ad 3 o, it 9 o o Rew g & 7

(b) Which company had the highest percentage increase in its exports in the year

1999 as compared to the year 1993 and what was this percent ?

fope wrrft 3 af 1993 it g o 1999 % Tt # srfershe wfowra 3f o8
3R 77 fora wfrera off 2

(¢) Ifinthe year 2000, the exports of the three companies X, Y and Z are increased
by 10%, 20% and 30% respectively as compared to their exports in the previous

year, then what will be the ratio of their exports in the year 2000 ?
afe 7 2000 % fi wefEi X v e 7 < Fafa  froe =f § g 6 g 3
AR 10%, 20% T1 30% 1 Jfg et 2, & = 2000 3F % grar oy m Bk

T ITUT T BT 7
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(d)

(e)

be increased by the companies X and Yinthe

What percentage of export should
ouble of thé export d_()ne by company

year 1996, so that their export becomes d
7 in the year 1996 ? | 8

¢ 1996 H FEHI X ATY
ERIGER! 1996 & HEHT Z G

fopg g frafa 1 & AT & S 7
% less than thatin 1993 andthe export

e exportby the company Zwas 30

[fin 1992, th .
more than that in 1993, then what was the difference

by the company X was 30%

ween the exports by the companies Z and X in the year 1992 7 8

(in Rs. crores) bet_ |
af o923 e 2 % Tl 1993 % frtd & 30% F4 o7 AT HEH X
Frta 1993 % fafd & 30% e o, @ o 1992 H Hroet Z T X % Farfa
Wﬁ(msﬁﬁ) o ? ' | |
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